Characteristic Properties Of Subclasses For The Meromorphically Multivalent Functions

Mr. Vidyadhar Sharma and Dr. Nisha Mathur

Research Scholar and Assistant Professor, Department of Mathematics, M.L.V. Government P G College Bhilwara-311001

Corresponding Author: Mr. Vidyadhar Sharma

Abstract: In the present paper, we introduce and investigate some new classes of multivalent functions involving linear operator and derive useful characteristic properties for Meromorphically multivalent functions. Several results are presented exhibiting relevant connections to some other results proved here and those obtained in earlier works.

Keywords: Analytic functions, Meromorphic functions, multivalent functions, linear operator and Hyper geometric function.

Date of Submission: 13-09-2018 Date of acceptance: 28-09-2018

INTRODUCTION I.

For any integer m > -p, let $\mathcal{T}_{p,m}$ denote the class of all meromorphic functions f(z) of the form $f(z) = z^{-p} + \sum_{r=m}^{\infty} a_r z^r \ (p \in \mathbb{N})$

 $f(z) = z^{-p} + \sum_{r=m}^{\infty} a_r z^r \ (p \in \mathbb{N})$ (1) which are analytic and p-valent in the punctured unit disk $\mathbb{D}^* = \{z : z \in \mathbb{C} \text{ and } 0 < |z| < 1\} = \mathbb{D}/\{0\}.$

Now we define the general integral operator $\chi_p^n(\alpha, \beta) f(z)$ which is as follows

$$\chi_p^n(\alpha,\beta)f(z) = \frac{\beta}{\alpha}z^{-p-\left(\frac{\beta}{\alpha}\right)}\int_0^z t^{\left(\frac{\beta}{\alpha}+p-1\right)}\chi_p^{n-1}(\alpha,\beta)f(t)dt$$

$$=\chi_p^1(\alpha,\beta)\left(\frac{1}{z^p(1-z)}\right)*\chi_p^1(\alpha,\beta)\left(\frac{1}{z^p(1-z)}\right)*...*\chi_p^1(\alpha,\beta)\left(\frac{1}{z^p(1-z)}\right)\in f(z), z\in\mathbb{D}^* \text{ and } p\in\mathbb{N}(2) \text{ For the sake of convenience, in particular cases}$$

- (i) If n = 0 then the above integral operator $\chi_p^n(\alpha, \beta) f(z)$ converts into $\chi_p^0(\alpha, \beta) f(z) = f(z)$.
- (ii) If n=1 then the above in $\operatorname{into}\chi^1_p(\alpha,\beta)f(z)=\left(\frac{\beta}{\alpha}\right)z^{-p-\left(\frac{\beta}{\alpha}\right)}\int_0^z t^{\left(\frac{\beta}{\alpha}+p-1\right)}f(t)dt.$ (iii) If n=2 then the above in operator $\chi_p^n(\alpha,\beta)f(z)$ integral converts
- integral $\chi_n^n(\alpha,\beta)f(z)$ operator converts $\operatorname{into}\chi_p^2(\alpha,\beta)f(z) = \left(\frac{\beta}{\alpha}\right)z^{-p-\left(\frac{\beta}{\alpha}\right)}\int_0^z t^{\left(\frac{\beta}{\alpha}+p-1\right)}\chi_p^1(\alpha,\beta)f(t)dt.$

Hence, if $f(z) \in \mathcal{T}_{p,m}$, we obtained the following results

$$\chi_p^n(\alpha,\beta)f(z) = \frac{1}{z^p} + \sum_{r=m}^{\infty} \left[\frac{\beta}{\beta + \alpha(r+p)} \right]^n a_r z^r$$
Therefore from (3), it is easy to see that

$$\alpha z \left(\chi_p^{n+1}(\alpha, \beta) f(z) \right) = \beta \chi_p^n(\alpha, \beta) f(z) - (\alpha p + \beta) \chi_p^{n+1}(\alpha, \beta) f(z) \qquad (\alpha > 0)$$
 (4)

We observe that (i) $\chi_n^{\lambda}(1,1)f(z) = P_n^{\lambda}f(z)$ (see, [4]), (ii) $\chi_1^{\lambda}(1,j)f(z) = P_i^{\lambda}f(z)$

(i)
$$\chi_p^n(1,\beta)f(z) = \chi_{p,\beta}^n f(z)$$
 where $\chi_{p,\beta}^n f(z) = \frac{1}{z^p} + \sum_{r=m}^{\infty} \left[\frac{\beta}{\beta + (r+p)} \right]^n a_r z^r$

(ii)
$$\chi_p^n(\alpha, 1) f(z) = \chi_{p,\alpha}^n f(z)$$
 where $\chi_{p,\alpha}^n f(z) = \frac{1}{z^p} + \sum_{r=m}^{\infty} \left[\frac{1}{1 + \alpha(r+p)} \right]^n a_r z^r$

(iii)
$$\chi_p^n(1,1)f(z) = \chi_p^n f(z)$$
 where $\chi_p^n f(z) = \frac{1}{z^p} + \sum_{r=m}^{\infty} \left[\frac{1}{1 + (r+p)} \right]^n a_r z^r$

Let $\mathcal{T}^{n+1}_{p,m}(\eta,\delta,\mu,\lambda)$ be the class of functions $f(z)\in\mathcal{T}_{p,m}$ which is satisfies the condition

$$\Re e\left\{ (1-\lambda) \left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)} \right)^{\mu} + \lambda \frac{\chi_p^{n}(\alpha,\beta)f(z)}{\chi_p^{n}(\alpha,\beta)g(z)} \left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)} \right)^{\mu-1} \right\} > \eta$$

$$(5)$$

where
$$g(z) \in \mathcal{T}_p$$
 fulfill the following condition $\Re e^{\left\{\chi_p^{n+1}(\alpha,\beta)g(z)\right\}} > \delta, \delta \in [0,1)$ (6)

Here μ and η belongs to real numbers such that $0 \le \eta < 1, \mu > 0$ and $\lambda \in c$ with $\Re e(\lambda) > 0$.

Currently many scholars and researchers studied similar classes for various types of different operators including Aouf and Mostafa [2], Al-Ashwah [6], [7] et al.

III. PRELIMINARY LEMMAS

The following lemmas will be required in our present investigation

Let Ω be a set in the complex plane c and let the function $\Psi: c^2 \to c$ satisfy the condition $\Psi(ir_2, s_1) \notin \Omega$ for all real $r_2, s_1 \leq -\frac{1+r_1^2}{2}$. If q(z) is analytic in with q(0) = 1 and

 $\Psi(q(z), zq'(z)) \in \Omega, z \in \mathbb{D}$, then $\Re\{q(z)\} > 0 \ (z \in \mathbb{D})$.

Let q(z) is analytic function in disk \mathbb{D} with q(0) = 1 and if $\alpha \in c/\{0\}$ with $\Re\{\alpha\} \geq 0$, then $\Re e\{q(z) + \alpha z q'(z)\} \geq \lambda, \quad \lambda \in [0,1) \Longrightarrow \Re e\{q(z)\} > \lambda + (1+\lambda)(2\gamma - 1) \text{where} \gamma \text{ is given by } \gamma = \gamma \left\{\Re e(\alpha)\right\} = \int_0^1 \left\{1 + t^{\Re e\{\alpha\}}\right\}^{-1} dt \text{ which is a function of } \Re e\{\alpha\} \text{ and } \frac{1}{2} \leq \gamma < 1. \text{The estimate sharp in the sense}$ that bound cannot be improved.

For the complex or a real number a,b and c (c≠ 0and not negative integer) the Gauss hyper geometric function is defined by

$$2^{F_1}(a,b;c;z) = 1 + \frac{ab}{c}z + \frac{a(a+1)b(b+1)}{c(c+1)2!}z^2 + \cdots$$

 $2^{F_1}(a,b;c;z) = 1 + \frac{ab}{c}z + \frac{a(a+1)b(b+1)}{c(c+1)2!}z^2 + \cdots$ The above series converges absolutely for $z \in \mathbb{D}$ and $2^{F_1}(a,b;c;z)$ is an analytic function in the unit disk \mathbb{D} . Each of the identities is well known cf.; e.g., [7].

For a real or complex parameters a, b and c ($c \neq 0$) Lemma iii.

$$\int_{0}^{1} t^{b-1} (1-t)^{c-b-1} (1-tz)^{-a} dt = \frac{\Gamma(b)\Gamma(c-b)}{\Gamma(c)} 2^{F_1}(a,b;c;z), \Re(c) > R(b) > 0$$

$$(1-tz)^{-a} 2^{F_1} \left(a,c-b;c;\frac{z}{z-1}\right) = 2^{F_1}(a,b;c;z)$$

$$2\ln 2 = 2^{F_1} \left(1,1;2;\frac{1}{2}\right)$$

$$(9)$$

$$(7)$$

MAIN RESULTS

If it is not mentioned in other sense, let us assume that
$$(\alpha, \beta) > 0, p \in N, n \in \mathbb{N}_0$$
 and $-1 \le B < A \le 1$.
Theorem i. let $f(z) \in \mathcal{F}_{p,m}(\eta, \delta, \mu, \lambda)$ then $\Re e\left(\frac{\chi_p^{n+1}(\alpha, \beta)f(z)}{\chi_p^{n+1}(\alpha, \beta)g(z)}\right)^{\mu} > \left(\frac{2\mu\eta\beta + \alpha\beta\delta}{2\mu\beta + \alpha\beta\delta}\right), g(z) \in \mathcal{F}_{p,m}(\eta, \delta, \mu, \lambda)$ (10)

Proof: let
$$=\frac{2\mu\eta\beta + \alpha\beta\delta}{2\mu\beta + \alpha\beta\delta}$$
, and we define the function $q(z)$ given by
$$q(z) = \frac{1}{(1-\gamma)} \left\{ \left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)} \right) - \gamma \right\}$$
Then $q(z)$ is analytic in \mathbb{D} and $q(0) = 1$.

If we consider the function
$$h(z)$$
 defined by $h(z) = \left(\frac{\chi^{n+1}(\alpha,\beta)g(z)}{\chi_p^n(\alpha,\beta)g(z)}\right)$ (12)

then by the our assumption (8), $\Re e\{h(z)\} > \delta$.

Differentiating (12) with respect to z and by the (6), we obtain $\frac{(1-\gamma)\alpha z q(z)'}{\beta \mu} = \left(\chi_p^{n+1}(\alpha,\beta)g(z) * \chi_p^n(\alpha,\beta)f(z) - \gamma p n + 1\alpha, \beta f z * \gamma p n \alpha, \beta g z * \gamma p n + 1\alpha, \beta f z \gamma p n \alpha, \beta g z \right)$ (13) $\chi pn+1\alpha,\beta fz*\chi pn\alpha,\beta gz*\chi pn+1\alpha,\beta fz\chi pn\alpha,\beta gz$ now using (13), we have

$$\{(1-\gamma)q(z)+\gamma\} + \frac{\alpha\lambda(1-\gamma)zq(z)'h(z)}{\mu\beta}$$

$$= \lambda \left(\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)} - \frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right) + \left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right)^{\mu}$$

$$\Rightarrow \{(1-\gamma)q(z)+\gamma\} + \frac{\alpha\lambda(1-\gamma)zq(z)'h(z)}{\mu\beta}$$

$$= (1-\lambda)\left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right)^{\mu} + \lambda\Gamma\left(\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right)\left(\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right)^{\mu-1}$$
Again, we consider the function $\Psi(r,s) = \left\{r - (r-1)\gamma + \frac{\alpha\lambda(1-\gamma)}{\beta\mu}Sh(z)\right\}$
(15)
From (15) and the fact that $f(z) \in T$, $(n, \lambda, \mu, \lambda)$ we have $\{\Psi(z), zq'(z): z \in \mathbb{D}\} \subset \Omega$

From (15) and the fact that $f(z) \in \mathcal{T}_{p,m}(\eta, \delta, \mu, \lambda)$, we have $\{\Psi q(z)zq'(z); z \in \mathbb{D}\} \subset \Omega$

$$\Rightarrow \{w \in c: \Re e(w) > \eta\}$$
. Now for real $r_2, s_1 \leq -\frac{1+r_2^2}{2}$, we have

$$\Re e\{\Psi(ir_2,s_1)\}$$

$$\Re e\{\Psi(ir_2,s_1)\}$$

$$=\frac{\Re eh(z)(1-\gamma)\omega\lambda s_1}{\mu\beta}+\gamma\leq -\frac{\delta(1+r_2^2)\omega\lambda(1-\gamma)}{2\mu\beta}\leq -\frac{\lambda(1-\gamma)\delta}{2\mu\beta}=\eta. \text{Therefore} \quad \forall z\in\mathbb{D}, \{\Psi(r_2,s_1)\}\notin\Omega.$$
Thus from the lemma [1], we have $\Re eq(z)>0 \ (z\in\mathbb{D})$ and hence

$$\Re e \left\{ \frac{\chi^{n+1}(\alpha,\beta)f(z)}{\chi^{n+1}(\alpha,\beta)g(z)} \right\}^{\mu} > \gamma \ (z \in \mathbb{D})$$

Let the function f(z) and g(z) be in the class $\mathcal{T}_{p,m}$ and let the function g(z) satisfy the Theorem ii. condition (7). If $\alpha \geq 1$ and $\Re e\left\{ (1-\lambda) \frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)} + \alpha \frac{\chi_p^{n}(\alpha,\beta)f(z)}{\chi_p^{n}(\alpha,\beta)g(z)} \right\} > \eta$ Where $\eta \in [0,1)$ and $(z \in \mathbb{D})$.

$$\Re e\left(\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right) > \gamma = \frac{(2\beta + \alpha\delta) + \alpha\lambda(\lambda - 1)}{2\beta + \alpha\beta\lambda}$$

$$\Re e\left(\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right) > \gamma = \frac{(2\beta + \alpha\delta) + \alpha\lambda(\lambda - 1)}{2\beta + \alpha\beta\lambda}$$

$$\mathbf{Proof:} \quad \text{If we set} \lambda \left\{\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right\} = (\lambda - 1)\left\{\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right\} + (1 - \lambda)\left\{\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right\} + \lambda\left\{\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right\}$$

By the theorem i and ii we have,
$$\lambda \left\{ \frac{\chi_p^n(\alpha,\beta)g(z)}{\chi_p^n(\alpha,\beta)g(z)} \right\} \ge (\lambda - 1) \left(\frac{2\eta\beta + \alpha\lambda\delta}{2\beta + \alpha\beta\delta} \right) + \eta$$

$$\Rightarrow \lambda \left\{ \frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)} \right\} \ge \left\{ \frac{\alpha\delta(\lambda - 1) + \eta(\lambda\delta + 2\beta)}{2\beta + \alpha\delta\lambda} \right\}, \mu = 1 \text{ and } \alpha \ge 1, (z \in \mathbb{D})$$
Corollary i: Let $\in C/\{0\}$ with $\Re e(\lambda) \ge 0$ satisfies the following condition If $f(z) \in \mathcal{T}_{p,m}$

 $\Re e\left[\left\{(1-\lambda)(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(\mathbf{z})\right\}^{\mu}+\lambda(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(\mathbf{z}))\left\{(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(\mathbf{z})\right\}^{\mu-1}\right]>\eta$

Then
$$\Re e\left\{\left(z^{p}\chi_{p}^{n+1}(\alpha,\beta)f(z)\right)\right\}^{\mu} > \left(\frac{\alpha\Re e(\lambda)+2\mu\beta\eta}{\alpha\Re e(\lambda)+2\mu\beta}\right)$$
 Further if $\lambda \geq 1$ and $f(z) \in \mathcal{T}_{p,m}$, satisfies

$$\Re e [(1-\lambda)z^p \chi_p^{n+1}(\alpha,\beta)f(z) + \lambda (z^p \chi_p^n(\alpha,\beta)f(z))] > \eta.$$

Then
$$\Re\{z^p\chi_p^n(\alpha,\beta)f(z)\} > \left(\frac{(2\beta\eta + \alpha\eta) + \alpha(\lambda - 1)}{2\beta + \alpha\lambda}\right)$$

Then
$$\Re \{z^p \chi_p^n(\alpha, \beta) f(z) + \lambda (z^p \chi_p^n(\alpha, \beta) f(z)) > \eta$$
.
Then $\Re \{z^p \chi_p^n(\alpha, \beta) f(z)\} > \left(\frac{(2\beta\eta + \alpha\eta) + \alpha(\lambda - 1)}{2\beta + \alpha\lambda}\right)$
Proof: If we taking $g(z) = \frac{1}{z^p}$ in theorem i and ii with $\Re e(\delta) = 1$, then the result is obvious.

Theorem iii. Let $\lambda \in C$ with $\Re e(\lambda) \geq 0$. If $f(z) \in \mathcal{T}_{p,m}$ satisfies the following condition:

$$\Re e\left[(1 - \lambda)\{(z^p \chi_p^{n+1}(\alpha, \beta) f(z)\}^{\mu} + \lambda (z^p \chi_p^n(\alpha, \beta) f(z))\{(z^p \chi_p^{n+1}(\alpha, \beta) f(z)\}^{\mu-1}] > \eta\right]$$

Then
$$\Re e \left[\left\{ (z^p \chi_p^{n+1}(\alpha, \beta) f(z) \right\}^{\mu} \right] > \eta + (1 - \eta)(2\rho - 1), \rho = \frac{1}{2} F_2^1(1, 1; \frac{\mu \beta}{\alpha \Re e(\lambda)} + 1; \frac{1}{2}) \right]$$

Proof: let
$$q(z) = \left(\left\{(z^p \chi_p^{n+1}(\alpha, \beta) f(z)\right\}^{\mu}\right)$$
 (16)

Then q(z) is analytic with the condition q(0) = 1. Differentiating (16) with respect to z and using the identity (6), we get $q'(z) \frac{\alpha z}{\mu \beta} = z^p \left\{ \chi_p^{n+1}(\alpha, \beta) f(z) \right\}^{\mu-1} z^p \left\{ \chi_p^n(\alpha, \beta) f(z) \right\} - \left\{ \chi_p^{n+1}(\alpha, \beta) f(z) \right\}$

Now, by the definition of q(z), we have $q(z) + zq'(z) \frac{\alpha z}{u\beta}$

 $=\left\{\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(z)\right\}^{\mu}+\alpha\left\{\left(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(z)\right\}^{\mu-1}\left\{\mathbf{z}^{\mathbf{p}}\chi_{p}^{n}(\alpha,\beta)f(z)\right\}-\left\{\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(z)\right\}\right\}$ Solving above mention equation, we get $q(z) + zq'(z) \frac{\alpha z}{u B}$

$$=(1-\lambda)\big\{z^p\chi_p^{n+1}(\alpha,\beta)f(z)\big\}^{\mu}+\lambda\big\{z^p\chi_p^{n}(\alpha,\beta)f(z)\big\}\big\{(z^p\chi_p^{n+1}(\alpha,\beta)f(z)\big\}^{\mu-1}$$

Therefore , by the assumption of theorem iii, we have $\Re e\left\{q(z)+zq'(z)\frac{\alpha z}{u\beta}\right\}>\eta$

By the lemma ii,
$$\Re e\{q(z)\} > \eta + (1-\eta)(2\rho - 1)$$
Where $\rho = \rho(\Re e\{\lambda\}) = \int_0^1 \left(1 + t^\alpha \frac{\Re e(\lambda)}{\beta\mu}\right)^{-1} dt = \frac{\mu\beta}{\alpha\Re e(\lambda)} \int_0^1 (1+\mu)^{-1} \mu^{\frac{\mu\beta}{\alpha\Re e(\lambda)}-1} d\mu$

Taking
$$\Re e(\lambda) = \lambda_1$$
 and $\lambda_1 > 0$. Therefore $\rho = \rho(\Re e\{\lambda\}) = \int_0^1 \left(1 + t^\alpha \frac{\lambda_1}{\beta \mu}\right)^{-1} dt$

Again using lemma iii, we have $\rho = \frac{1}{2}F_2^1(1,1;\frac{\mu\beta}{\alpha\lambda_1}+1;\frac{1}{2})$

Corollary ii: let $\lambda \in \text{Real number with } \lambda \geq 1$. If $f(z) \in \mathcal{T}_{p,m}$ satisfies $\Re e[(1-\lambda)\{(z^p\chi_p^{n+1}(\alpha,\beta)f(z)\} +$ $\lambda(zp\chi pn\alpha,\beta fz>η$ Then

$$\Re e \left[\left\{ z^{p} \chi_{p}^{n}(\alpha,\beta) f(z) \right\} \right] > \eta + (1-\eta)(2\rho_{1}-1) \left(1-\frac{1}{\alpha}\right) \text{where } \rho_{1} = \frac{1}{2} F_{1}^{2}(1,1; \frac{\beta}{\alpha\lambda} + 1; \frac{1}{2}) .$$

Proof: let us consider $\lambda \Re e\{z^p \chi_p^n(\alpha, \beta) f(z)\}$

$$=\Re e\big[(1-\lambda)\big\{(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(z)\big\}+\lambda(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n}(\alpha,\beta)f(z)+(\lambda-1)\big\{(\mathbf{z}^{\mathbf{p}}\chi_{p}^{n+1}(\alpha,\beta)f(z)\big\}\big]$$

By the theorem iii and above corollary $\Re e \left[z^p \chi_p^n(\alpha,\beta) f(z) \right] = \eta + (1-\eta)(2\rho_1-1) \left(1-\frac{1}{\alpha}\right)$ where $\rho_1=0$

$$\Re\left\{\left(1-\lambda\right)\left(\frac{\chi_{p}^{n+1}(\alpha,\beta)f(z)}{\chi_{p}^{n+1}(\alpha,\beta)g(z)}\right)^{\mu} + \lambda \frac{\chi_{p}^{n}(\alpha,\beta)f(z)}{\chi_{p}^{n}(\alpha,\beta)g(z)}\left(\frac{\chi_{p}^{n+1}(\alpha,\beta)f(z)}{\chi_{p}^{n+1}(\alpha,\beta)g(z)}\right)^{\mu-1}\right\} > \eta .$$

$$if\Re\left\{\frac{\chi_{p}^{n}(\alpha,\beta)f(z)}{\chi_{p}^{n}(\alpha,\beta)g(z)} - \frac{\chi_{p}^{n+1}(\alpha,\beta)f(z)}{\chi_{p}^{n+1}(\alpha,\beta)g(z)}\right\} \ge -\delta \frac{(1-\eta)}{2\beta}$$

$$(17)$$

For some
$$\eta(0 \le \eta < 1 \text{ then } \Re e \left\{ \frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)} \right\} > \eta$$
 (18)

and
$$\Re\left\{\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right\} > \frac{\eta(2\beta+\delta)-\delta}{2\beta}$$
 (19)

By the theorem in and above coronary $Sel_{L}(x_{p},x_{p},y_{p},z_{p})$ (7) Theorem in and above coronary $Sel_{L}(x_{p},x_{p},y_{p},z_{p})$ (7) Theorem in and above coronary $Sel_{L}(x_{p},x_{p},y_{p},z_{p})$ (7) Theorem in and above coronary $Sel_{L}(x_{p},x_{p},z_{p})$ (7) Theorem in and above coronary $Sel_{L}(x_{p},z_{p},z_{p})$ (7) Theorem in and above coronary $Sel_{L}(x_{p},z_{p},z_{p})$ (7) $\frac{1}{2}F_{1}^{2}(1,1;\frac{\beta}{\alpha\lambda}+1;\frac{1}{2})$. Theorem in and $Sel_{L}(x_{p},z_{p},z_{p})$ (17) Theorem in and $Sel_{L}(x_{p},z_{p},z_{p})$ (18) $Sel_{L}(x_{p},z_{p},z_{p})$ (18) $Sel_{L}(x_{p},z_{p},z_{p})$ (18) $Sel_{L}(x_{p},z_{p},z_{p})$ (18) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (10) $Sel_{L}(x_{p},z_{p},z_{p})$ (11) $Sel_{L}(x_{p},z_{p},z_{p})$ (12) $Sel_{L}(x_{p},z_{p},z_{p})$ (13) $Sel_{L}(x_{p},z_{p},z_{p})$ (14) $Sel_{L}(x_{p},z_{p},z_{p})$ (15) $Sel_{L}(x_{p},z_{p},z_{p})$ (16) $Sel_{L}(x_{p},z_{p},z_{p})$ (17) $Sel_{L}(x_{p},z_{p},z_{p})$ (18) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) $Sel_{L}(x_{p},z_{p},z_{p})$ (19) Selsetting $\varphi(z) = \frac{\chi_p^{n+1}(\alpha,\beta)g(z)}{\chi_n^n(\alpha,\beta)g(z)}$, then form (7), we have $\Re e\{\varphi(z)\} > \delta$ and $\delta \in \mathbb{D}$. A easy calculation show that

$$(1-\eta)q^{'}(z) = \frac{\chi_{p}^{n+1}(\alpha,\beta)g(z)\left(\chi_{p}^{n+1}(\alpha,\beta)f(z)\right)^{'} - \chi_{p}^{n+1}(\alpha,\beta)f(z)\left(\chi_{p}^{n+1}(\alpha,\beta)g(z)\right)^{'}}{\left(\chi_{p}^{n+1}(\alpha,\beta)g(z)\right)^{2}}$$

Solving above and using the relation (4), we have $\alpha z(1-\eta)q'(z)=\frac{\chi_p^{n+1}(\alpha,\beta)g(z)\chi_p^n(\alpha,\beta)f(z)-\chi_p^{n+1}(\alpha,\beta)f(z)\chi_p^n(\alpha,\beta)g(z)}{\left(\chi_p^{n+1}(\alpha,\beta)g(z)\right)^2}$ Now by the definition of $\varphi(z)$, we get $\frac{\alpha z(1-\eta)q'(z)}{\beta}\varphi(z)=\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}-\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}=\varphi\Big(q(z),zq'(z)\Big)$, where $\Psi(r,s) = \frac{(1-\eta)s\varphi(z)}{\beta}.$

$$\begin{split} \{\Psi(q(z),zq'(z);z\in\mathbb{D})\} \subset \Omega &= \left\{\omega\in\mathcal{C}\colon\Re e(\omega) > -\frac{(1-\eta)\delta)}{2\beta}\right\} \\ \Re e\{\Psi(\mathrm{ir}_2,\mathrm{s}_1)\} &= \frac{r_1(1-\eta)\Re e\{\varphi(z)\}}{\beta} \leq -\frac{(1-\eta)\delta}{2\beta} \end{split}$$

 $\{\Psi(q(z),zq'(z);z\in\mathbb{D})\}\subset\Omega=\left\{\omega\in\mathcal{C}:\Re e(\omega)>-\frac{(1-\eta)\delta)}{2\beta}\right\}$ $\Re e\{\Psi(\mathrm{ir}_2,\mathrm{s}_1)\}=\frac{r_1(1-\eta)\Re e\{\varphi(z)\}}{\beta}\leq -\frac{(1-\eta)\delta}{2\beta}$ This is shows that $\Psi(\mathrm{ir}_2,\mathrm{s}_1)\notin\Omega$ for each $z\in\mathbb{D}$. Hence by the lemma [1] we get $\Re e\{q(z)\}>0$ $(z\in\mathbb{D})$. This is the proof of (18). Now for the proof of (19), $\Re e\left\{\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)g(z)}\right\}=\Re e\left\{\frac{\chi_p^n(\alpha,\beta)f(z)}{\chi_p^n(\alpha,\beta)f(z)}-\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)f(z)}\right\}+$ $\Re e^{\left\{\frac{\chi_p^{n+1}(\alpha,\beta)f(z)}{\chi_p^{n+1}(\alpha,\beta)g(z)}\right\}} \ge -\frac{(1-\eta)\delta}{2\beta} + \eta$ $\geq \frac{\eta(2\dot{\beta}+\delta)-\delta}{2R}$ which is the complete proof of (19).

REFERENCES

- [1]. Agarwal, R., Pareek, R.S. and saigo, M. A general fractional integral formula. J. Fractional calculus 7(1995), 55-60.
- Aouf, M.K. and Mostafa, A.O. Certain subclasses of p-valent meromorphic functions involving certain [2]. operators, Jipam-vu. Edu.au., Volume (9) (2008), Article (45), 8pp.
- Aouf, M. K. and Hossen, H. M. New criteria for meromorphic p-valent starlike functions. Tsukuba J. [3]. Math., 17 (1993): 481-486
- Aqlan, E., Jahangiri, J.M. and Kulkarni, S.R. Certain integral operator applied to meromorphic p-[4]. valent functions, J. of Nat.Geom., 24 (2003), 111-120.
- Duren, P.L. Univalent functions, Grundlehender Mathematischen wissenchaften 259, Springer-Verlog, [5]. New York, Berlin, Heidelberg, Tokyo, 1983.
- Dziok, J. and Sriwastava, H.M. Classes of analytic functions associated with the generalized [6]. hypergeometric functions, Appl. Math.Comput., 103(1993), 1-13.
- El-Ashwah, R. M. and Aouf, M. K. Some properties of certain meromor p-valent function involving [7]. extended multiplies transformation. Comput. Math. Appl. 59 (2010), 2111-2120.
- [8]. El-Ashwah, R.M. Some properties of certain subclasses of meromorphically multivalent functions. Appl. Math.Comput., 20 (2008), 824-832.
- Goyal, S.P. and Goyal, R. On a class of multivalent functions defined by generalized Ruschwey [9]. derivative operator. Journal of India Acad. Math. 27 (2) (2005), 439-456.

- [10]. **Liu, J.L and Srivastava, H.M.** Class of meromorphically multivalent functions associated with the generalized hypergeometric function. Math.Comut.Modell., 39(2004), 21-34.
- [11]. **Srivastava, H.M. and Aouf, M.K.** A certain fractional derivative operators and its applications to a new class of analytic and multivalent functions with negative coefficients. J. Math. Anal.(171) (1992), 1-13.
- [12]. **Srivastava, H.M. and Patel, J.** Applications of differential subordination to certain subclasses of meromorphically multivalent functions, Jipam-Vu-edu. Au. Volume 6, Article 88, (2005), 30C45, 30D30 and 30C20.
- [13]. **Srivastava, H.M. and Owa, S.** Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions. Hadamard products, linear operator, and certain subclasses of analytic functions, Nagoya Math. J. 106,(1987),1-28.

IOSR Journal of Engineering (IOSRJEN) is UGC approved Journal with Sl. No. 3240, Journal no. 48995.

Mr. Vidyadhar Sharma " Characteristic Properties Of Subclasses For The Meromorphically Multivalent Functions:" IOSR Journal of Engineering (IOSRJEN), vol. 08, no. 9, 2018, pp. 48-52